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ctb=6

Class preference, Ciy; (completeness if i=7) for 0C1 classifiers
A ASAAS A A 05720720 (25030752% WGA data).f
Numbers over bars give preference in %

100 = ‘ ‘ xeer09a =
g 83 e e E
80 = 74 xior09a True” class: —
60 £ 1 — Star —
40 = N=3211 —
20— N=1635 —
0c ms 55 2 4 0,0 1.0 2 1 2 1 2 1 E
100 = =
80 — 2 — Star_OF o
60 — 5o N=1980 —
40 = N=639 -
20 1417 194 =
= [~ | [ 3.3 0.0 11 40 3 1 4 0 E
100 = =
80 = 3 — Star_FG -
60 22 N=1483 —
401 31 35 N=547 —
20 — 14 19 =
0C il h 4 0.0 32 2 2 1 w3 E
100 £ =
80 = 4 — Star_KM T
60 E- 48 N=1163 =
‘2‘85 1822 =8 2216 15 e E
o mll H- Bm oo 20 Sz a1 B
100 = E
80— 5 — X-binary —J
60 — 53 N=265 7
- N=104
ggi . 1612 i 11 11 =
0 B 20 o mam 10 45 b 3
100 = =
80 6 — AGN —
60 — N=1413 5
40— 35 - N=488 -
- 2220 =
20 16 12 —
oF S 20 A0 10 1.0 - m == BN E
100 =
80 E 7 - QS0 —
60 — 5253 N=1599 —
= N=422 -
d= 2224 E
20 = 5 6 1014 ” —
)= 2 o 21 o O 00 0.0 il 4 3
100 = =
80— 8 — Galaxy I
60 =— N=1333 =
40E- 3338 N=356 -
20 = 13 od8 154 =17 =
OF Ml o3  mml 11 01 ol e o 3
100 = =
80 — 9 — Cluster I
60— (N51496 =
40 456 -
20 12 1816 12 =
oF 3 81 S 11 00 s HE  wea E

0C1 class: 1 2 3 4 5 6 7 8 9
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